When was the first election of the

Haryana Legislative Assembly held ?
(A) 1962 (B) 1967
(C) 1972 (D) 1977
(E) Not attempted

2. The first archacological excavation

in Haryana was done by which
Archacologist ?

(A) Cunningham

(B) D. D. Snooper -,-E .$E|
(C) H. L. Srivastava El" IE

(D) None of the above
(E) Not attempted

India successfully test-fires new
generation anti-radiation missile
recently, what is the name of that
missile ?

(A) Agni-1

(C) Brahmos

(E) Not attempted

(B) Prithvi-1
(D) Rudram-1

Find the number which will come at
the place of question mark (?) in the
given series.

11, 12, 13, 15, 15, 18,1%, ¢

(A) 20 (B) 19

(C) 18 (D) 21

(E) Not attempted

This army general who hailed from
Haryana served as the 23" Chief

of Army Staff of the Indian Army in

Haryana JBT Teacher Exam Question Paper 28 Sept. 2024

PT - 2

1. gEmn U &1 vgen e %9

BT 7

(A) 1962 ,(B) 1967

(C) 1972 (D) 1977

(E) 39amiEa

gfEmn 4 ggen queEfeas 3aga
qraeatag g e e 247
~{A) Hfam

(B) 3. &, =W

(C) . Ud. arad

(D) 39 ° ¥ F1E TE

(E) 3rvanfaa

9Rd | ' #@ § 7% g & udi-ifsum
TraTsar 1 awaard® e~ BTt T, =
T R am = 2 7

(A) 3 -1 (B) ge&i-1

(C) welH ~(D) #ZH-1

(E) 3TwaTie

4, @ oJEen 1 yEaEs (98 (?) F e
maﬁaﬁm@:
117123, 15\{13{/1,8 17,

(A) 20 (B) 19
(C) 18 (D) 21
(E) Ivaifaa

5. E@WT § Arees W@ Al 38 T S
3 2007-10 & drg W 81 & 239 HI%

bet 20 3w 3l wie & ¥ 4 wE fEn
etween 2007-10

(A) Dalbir Singh Suhag ,(A) SerEi fae gem

(B) V. K. Singh i (B) . %. fae

(C) Deepak Kapoor a2 16 d9e FR

(D) Naik Hari Singh "= (D) T Bl far

(E) Not attempted (E) st




Which of the following is the most

important aspect of teaching of

mathematics at primary level ?

(A) Promoting and preparing for
technology.

(B) Making mathematics part of
children’s life experiences.

(C) Developing rigour in calculations.

(D) Preparing for higher education
and employment.
(E) Not attempted

Urdu translation of Kalidas’ famous
composition, Meghaduta was done by
(A) Pratap Singh Rana Ginnauri
(B) Shiv Prasad Javed

(C) Balbir Singh Rathi

(D) Jwala Prasad Shahi

(E) Not attempted

Leaves have tiny pores called

through which they exchange gasces.

(A) Stomata

(B) Chloroplasts
(C) Guard cells
(D) Xylem

(E) Not attempted

What is the sum of digit of the least
number, which when divided by
15, 54, 16 and 12 leaves the s;I:mc
remainder 4 in each casc and is

divisible by 197 - ‘31'[31
W 13 ® 4 {55
(€) 15 (D) 16

PT - 24

6. frmii @ ia-m mafies w9t i g
&1 Hal WEAQY A 2 7
(A) Tenfiv &1 agran e i IR A |
f-g@,(a)ﬂﬁmﬁarﬁiﬁwﬁa?%ﬁﬁuﬁw
e e
() TvF H uftgrgar famwfaa we |
(D) 3=a foren 3R T % fere
T |
(E) 3rwanfaa

7. wiferg@ i1 wfag =1 q9gd F1 34 H4491
. ar fan man o )
(A) wam féz on fr=idi
(B) fora warg s
(C) ==t far udt
(D) S=TE WH G 9@l
(E) 3manfaa

8. uftwi o Bi-wie vu #[ 2 fod
Wmé,ﬁﬂ'ﬁﬁmtﬁrﬁﬁ%ﬁﬁm
HAEH-YEH Fd & |

(E) Not attempted

(A) =21
-(B) TR
(C) & Fifsrmmnd
(D) SIgem
(E) 3wvanfia
. mmﬁm%aﬁrﬁmmw?
fora 15, 54, 16 31 12 | fawnfom w1 o
uew feafa i a9 4 2 au1 gg
198 fawrsy ¢ 7 AT .
A) 13 (B) 14
C) 15 (D) 16
(E) stuanfaa
A

I i
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10. Jaya Sambhita is also known as

(A) Ramayana

(B) Bhagawatgeetha
(C) Mahabharata
(D) Panchathantra

(E) Not attempted

11. In a 75 students class, 44% are boys
and the rest are girls. The average
marks of boys are 66 and of the girls
are 72. Find the average of the class.
(A) 68.82 (B) 69.36
(C) 70.24 (D) 68.56
(E) Not attempted

12. Haryana was the first State in the
country to achieve 100% rural
clectrification in
(A) 1947
(C) 1970
(E) Not attempted

(B) 1955
(D) 2000

13. The Western Haryana Plain is
characterized by the presence of
(A) Dense forests
(B) Numerous sand dunes
(C) Large lakes
(D) High plateaus
(E) Not attempted

14. Find the option from the following
which is related to the third term in the
similar way as the first term is related
to the second terim.
80:9::120:7 )’y’.f.l‘l
(A) 10 B) 11 L)
(€ 12 (D) 13 “
(E) Not attempted

A

PT - 24
10. wéfgmaﬁ____,%mﬁiﬁmr
AR |
ez ) (A) T
%fféi(mmmﬂfﬂm
.f(c)m
(D) U=
(E) 3T
i1, 75 Rrenfeli <1 Tk a1 ° 44% TT5H HN
ﬂﬂﬁg%ﬁ%]ﬁsﬁ%aﬂm:ﬁamﬁz

wrefRal % 72 & | Fen w1 A 3F T
#ifsm)

(A) 68.82 -(B) 69.36
(C) 70.24 (D) 68.56
(E)
12. i@ g9 %1 vgen w2 fasa 100%
o fererdfia efae foman 2
(A) 1947 (B) 1955
-(C) 1970 (D) 2000
(E) 3rwanfaa
13. e efen & e < fada 2
(A) = Fe
-(B) # W & f=
(C) = 3i
(D) 9 gar
(B) srwanfia

14. Fefafea & & a8 fameq s dfac 7

At 9 A I waEw g 2 fw
TR TR G 9g § wHeifyg R |
80:9::120:7

A) 10 ~(B) 11
€ 12 (D) 13
(£) Iwfaa
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15. Which among the following districts
arc being developed by the Haryana
Fishery Resource Development
Authority ?

(A) Gurgaon, Hisar, Rohtak

(B) Panipat, Karnal, Faridabad

(C) Charkhi Dadri, Jind, Jhajjar

(D) Panchkula, Ambala, Kurukshetra
(E) Not attempted

16. In 7" Century A.D., this Chinese

pilgrim visited Haryana.
(A) Hsi-yt Chi
(C) Fa-hsien

(E) Not attempted

(B) Hiuen Tsang
(D) Markopolo

17. Which of the following statements is
not correct with regard to nature of
mathematics ?

(A) Mathematics uses special
vocabulary to communicate ideas
precisely.

(B) Argumentation skill is important
in construction of mathematical
knowledge.

(C) Mathematical concepts are
hierarchical in nature.

(D) Primary level mathematics is
concrete and does not require
abstraction.

(E) Not attempted

18. Who among the following writers of

Haryana wrote the famous drama

‘Court Martial’ ?

(A) Swadesh Deepak

(B) Uttamchand Sharad w2 [E]

(C) Jwala Prasad Shahi ?1'-'.;{!;

(D) None of the above [

(E) Not attempted

PT - 24

15. zfEmm v waeE fawm mivwm gm
frfafea § & fma fael =1 fawma fFn
MR 7
(A) e, femm, e

1.3'{%] (B) WA, AT, FiIEmETE
Sl (o) = zeh, e, =
,(D) TEEE, A, FoaA

(E) Fwarfaa
16. 7 i waredl §. H, 3| o didawh |
(A) -7 =i (B) %A I
.(C) Wi (D) HTETE]
(E) 3w

17. W =1 wgfa * d4u § fe=fafed 5 5
MR
AA) TV, femmi @ 5 =T § @it
T & fou [ seEe +1 33m
A2 |

(B) nfvredia 3 % famiv #f 75 S
Heeyl 2 1 -

() nfurdra sr@uromd wgfa # wEgmiT
el 8 1

(D) Wty T 1 nivra b A 2 3

(E) 3wanfea

—

18. wfwmwn & f=fefeas sasi 0 | fF
ufag e ‘w1 wore’ fam 2 7
(A) T &
(13) ITHEE TG
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20.

21-

22.

23.

If P means x, R means +, T means +
and S means -, then 18T3P9S8R6 is

&) 15 (B) 46
(C) 52 (D) % #iﬁr[?
(E) Not attempted =[]

What is the main characteristic of the

physiography in Sonipat district ?

(A) Predominantly sandy with dunes

(B) Mountainous with occasional
lakes

(C) Divided into Khadar, upland
plain and sandy region

(D) Characterized by deep valleys

(E) Not attempted

Learning disabilities in reading is
(A) Dysgraphia (B) Dysphasia
(C) Dyslexia (D) Dyscalculia
(E) Not attempted

lf5a:2b=3:2and3b:?c=5:7,
then the value of a : b: cis equal to
which of the following ?

(A) 3:5:3 B3 5:7:3

(C) 7:5:3 D) 5:3:7

(E) Not attempted

Following are four questions posed by

a mathematics teacher. Which of the

following is an open-ended questions ?

(A) If sum of two numbers is 17, then
what are the numbers ?

(B) If the age of Anil is 7 years and

his father's age is 5 times more

than that of Anil’s age. What will

be the age of father ?

If sum of two numbers is 15 and

one of them is 7, what will be the

other number ?

(D) What should be added to 17

(€)

23.

re(s]
{'1-?}['{-
(=)*(s)

get 237
(E) Not attempted

PT - 24

19. 7 pa 3 « B, R 3+ 2, TH 374+ 2
a1 S T 374 - B, A 18TIPISBR6 71 7 7

A -1

(B) 46

AC) 52 D) %
(B) Fofad

20. A fae # dnifers feafa % 57272
fersrgen #0127

(A]g@méﬁéifﬁ
(B) TaTe) ZeE A w-w Fe
Fanild

_(C) @rE, Fi #EH 7 T @3 E

(D) ngﬁarf‘zmafxfaﬂw

(E) ZrvErEd

21. ﬁﬁﬁﬁ@%ﬁm% _
(A) Temmfea (B) =i
J(c) fe=ifFmm (D) =TT
(E) AantEd

22. 'ﬂ'ﬁ{Sa:Qb'—-B:?.aﬂ'i:‘;‘b;ch’
A a:b:c® °AE HEfGREd ¥ FLIFTT

FOET 2 7
(RJISVENS B S: 73
(C) 7:5:3 4D 5:317
(E) 3rwarfHd

=
[

wes Mo foares g0 gE T SR N

Frafafaa 8 | fsfafes 3 § sE-9

UF el WA @ 7

L(A) afe & "enai @ am 17 2, @
Hend @ 2 7

(13) afe aifre 1 oy 7 a4 @ MIFE
fen 1 3my sifve & 3wy A 5T
sifues 2 | faen &1 3wy w0 @0l 7

() afe & wensi @1 dm 152 3 3
A 7 2, A qudl den 7 gl 7

(D) 17 ¥ @ g = {6 23 W & 7

() 3rwanfaa
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24. People who are related through our

1 04, I @M BAT | % WeAm # HEfaa 7
mother are called - F7 B |
(A) Paternal relations (A) ‘)"175 Ay
(B) Collateral relations (B) aifFds wau
(C) Affinal relations !;:l";-E] (©) daife A4
(D) Maternal relations @g%_ (D) W HE
lE) Not attemptcd (E) mﬁ;‘a
25. Which of the following is a desirable 5. for i mgy # frefafea 4 4 FIA-T] TF
teaching-learning practice in the arafa fﬂm_ﬁgm oA 2 7 o
context of Mathematics ? o F A aa
(A) Students should be told to follow A ?n"l' = E YR S =
the prescribed steps of solving fayifta =mon #1 9 FH F T
problems. &l =1fzw | S,
(B) Open ended questions should be (B) WH =l T4 & fero g yoa 8 799
avoided to prevent confusion. |
(C) Intuitive understanding of (©) SrauTn ) GEF A = e
concepts should be encouraged. I ) l‘ '
(D) Open book tests should be e \alli'aq‘
(E) Not attempted (E)
26. Choose the wrong number. 26. Terd @&l 94 |
a,2,3.5,7.5,26.25, 118.125 4,2,3.5,17.5, 26.25, 118.125
(A) 118.125 (B) 26.25 4A) 118.125 (B) 26.25
(C) 7.5 (D) 3.5 (C) 7.5 (D) 3.5
(E) Not attempted (E) o
27. Problems with handwriting, spelling, 27. femame, a1, ﬁﬁmr @1 sgaEda T4 8
organizing ideas is G =l
(A) Dyspraxia I_:JJ',';-EI (A) fexdfaman
(B) Dysgraphia :J'jz‘ -(B) femnfem
(C) Auditory proccssing disorder “H () waAv vHERw faatt
(D) Dyscalculia (D) r?.ﬁréln_l.ﬁflln
(E) Not attempted () wnfaa
= = bu
I 28. @l @l U d@fau | "y 3
28, Complete the following ht"“ﬁ- . ;-L}’ jtlr_ ;:;.!*124. n15, 342, ? os
7,26, 63,124, 215 3% 1 (A 481 ~(B) 511
(A) 481 (B) S11 (©) 391 (D) 421
() 391 (D) 421 (E)
(E) Not attempted A

-7-
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29. 1fZ =52 and ACT = 48, then BAT will
be equal to
(A) 39 (B) 46 .
(C) 44 (D) 41 %';;E
(E) Not attempted E==.
30. Which of the following statements is

not true about the five steps of the
Mathematization ?
(A) ldentifying the real problem in
the context.
(B) Memorizing an algorithm.
(C) Solving meaningful mathematical
problems.
(D) Making sense of mathematical
solutions in real life.
(E) Not attempted

31. The agents of socialization are
(A) School and Peers
(B) Family and school
(C) Family, Peers, school and mass
media
(D) School and mass media

(E) Not attempted

Which of the following is a narrow

aim of teaching mathematics ?

(A) To make students proficient in
handling numbers and number
operations. '

(B) To develop students
generalization abilities.

(C) To encourage systematic

reasoning among studcl_*:%s.

To develop students’ aln_]uy to

argue the truth and falsity of

statements.

(E) Not attempted

32.

(D)

PT - 24

29. Ifz Z = 52 31 ACT = 48, @ BAT fF=

R AT 7
(A) 39 ,(B) 46
(C) 44 (D) 41
(E) IT9anfad

30. TIfUTd R % qid = & =i ° =it
B A A1 FYT G TE B 7
(A) FeY 1 ar=fas A & gEaH
HET |

,(B) U USII2R =l A1E FHAT |
(C) He iU TE TEE=n T @ Ee w |
(D) AT=TTH =T 7 METE FEEE
U 9 |
(E) 3twaifEd

31. TUTSHHN &F FEF 8 7
(A) e 3 g
(B) ufran 3 faemem
-(C) sf@Ewr, e, fauem 3iw s959r
ey
(D) faener 3 smg=mR Tam
(E) stsfaa

32. F=fafaa § 4 sm-a1 nfirg yeit =1
Hehivf 39 & 7
(A) Bl F1 HEmsii 3 e e
H‘Tmﬁfimm |
Bl &) g avansi w5
fawfaa e |
(C) @il i srafem ad o deafea @1 |
D) Yl E T sl syegar gt TE

A w6 ol ) A fesfia w60 |
(B) 3twnfaa

B B

[m] F5ik
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To conserve the river Ganga, which

Program has been initiated ?

(A) Clean Ganga Mission

(B) Namami Ganga Programme@-..E]
o ""I';

(C) Ganga Action Plan %7

(D) Ganga Rejuvenation Project
(E) Not attempted

34. The main aim of comprehensive

evaluation is

(A) the spiritual development of the
child

(B) the emotional development of the
child

(C) all round development of pupils

(D) intellectual development of the
child

(E) Not attempted

35. What is the significance of

Environmental Studics, as an

integrated environmental science ?

(A) It provides a comprehensive and
holistic understanding of the
environment and its iSSUcs

(B) Being able to participatc in all
activities

(C) It helps in scoring
well as in practicals

(D) It helps to enjoy Jearning of

science more than that of

A+ in theory @3

language
(E) Not attempted

PT - 24

33. mqaiﬁﬁtmiﬁﬁagfﬂ-maﬁrdm
gy fopan TN R 7 .

() Ta=s T faee

_(1B) =wifir T S

(C) T U

(3) i nfafaf i 3 v 2 3w R

(©) = Al ¥ me—gry mfaeswe |

A+ T fere weg T 8

lﬁ’ﬂjlr] (1) 2@ S <) e i faa e

[=

fir 31 i w1 i 7 el 8

(E) B BTG
A

-9-
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36. Which of the following is most

appropriate strategy for teaching

students to solve mathematical

problems ?

(A) Teacher should begin by
explaining the steps required for
obtaining the solutions of the
problems.

(B) Guess and verify approach
should be strictly discouraged.
(C) Students should be encouraged
to view a problem from many
perspectives.

(D) The list of formulae required for
solving the given set of problems
should be provided in the
beginning.

(E) Not attempted

A watch reads 4 : 30. If the minute

hand points to east in which

direction does the hour hand point ?

(B) South-East

(D) North

37.

(A) North-East
(C) North-West
(E) Not attempted

38. The teaching is said to be effective

when the teacher gives
(A) more explanation
(B) more leisure time
(C) individual attention

(==
(D) more freedom E]d'l
(E) Not attempted

Select the pair similar to 5 : 35.

(A) 9:45 (B) 7:77
(C) 3:24 (D) 11:75

(E) Not attem pted

39.

PT - 24

36. TTEI ®I MG FHEI HI BA FA
foam & fou fefafEa 8 8 s5-4
I FEH 37§ 7
(A) Ters =1 GwEIal & FHIUE 919
FW % U 3ravas SO0 H AT
Feh IE A I |
Uﬂﬁmwﬁﬁmmmmﬁ%
Zfezamm 1 FEA § Fareaied
e )
_(C) Tl I 3 Ziewvi § HUE F
@ foru viemifza fopan ST =nfzy |
(=1 =]
é:;:a(D)maﬁ%ﬁ({ﬂt{mmgam
% forg e gt A g 7o 4
st =nfeg | ¥
(E) Iwanfad
37. wEuAH 4309 £ | AfE fie & @
o 1 3 g e @ @ e A ogE e
fem 1 sl g FwOft 7 bt
AA) FTR-Td (B) eEw-gd
(€) IW-ufFem (D) I

(A) ifus st
(B) Ifueh @R 1 HHAy
_(c) =faama =
(D) aifus K
(E) smafea
39. 5:35% HAM YW H WA B 1M
~(A) 9:45 @) 77
(C) 3:24 (D) 11:75%

"'ll.._

(E) 3rafia
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40.

41.

42.

Which of the following statements is

not correct regarding differently abled

children of dyslexia in mathematics

learning in an inclusive classroom ?

(A) Dyslexia impacts only language
learning not mathematics
learning.

(B) Dyslexic children may have
difficulty in writing down their
ideas in systematic and organized
manner.

(C) Visual patterns in mathematics
help in overcoming difficulties
experienced by dyslexic children.

(D) None of the above

(E) Not attempted

National Policy on Education 1986
has stressed the use of continuous
and comprehensive evaluation
especially in

(A) Nursery education

(B) Primary education

(C) Primary and secondary education
(D) Secondary education

(E) Not attempted

Which of the following crops
originated in South America ? [-]{.[ ]
(A) Rice, wheat and maize [= ]j -
(B) Barley, rye and oats

(C) Tomato, potato and green chilli

(D) Cotton, jute and hemp

(E) Not attempted

-11-

PT -24

T Fer W v Hew § i

fzrmrqﬂama—ammunﬁqrgxﬁ%a

T A HI-H1 U1 5 T8 2 7

(A) Fer=farn wee v s =
mﬁam%,nﬁmﬁr@ia&r%|

.(B) fetfaas == #1 s fa=mi =0
Spaftya 3 Tfea @i+ 3 foms g
Hims B awd 2 1

(C) nifora ® 793 92 feeafam=s a==1 zm
39T i TH T FioAEA T FE
A ¥ Weg wd 2 |

(D) 37da § | HIE TE

(E) 3Twanaq

i foven fifa 1086 3 faems =9 F

U HAd ﬂw_.J‘quq_Faﬁ?%

I9EM W HR fem

(A) 5 foran

~(B) wiufua foan

(C) wrufirs 3 wreafiys e

(D) wefae faen
(E) stvanfaa

friferfira 5 8 @1 -t wael i JHEE
1 3o w7

off IIEI
32

42.

(A) =TEE, "I'hf\ 3 HaFF]
(3) o, ud 3w
_(C) e, e 3 zd
(D) F9IM, 3¢ 30 2

(1) 3rvyifaa
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43.

o’
(=]

i

e
32

'd g

S

~——— s considered as the major
milestone in cognitive development
because it marks {he beginning of
logical or operational thought.

(A) Sensorimotor stage

(B) Pre-operational stage

(C) Concrete operational stage
(D) Formal operational stage

(E) Not attempted

44. The fundamental feature of school life is

(A) Providing good infrastructure

(B) Providing quality teachers

(C) Promoting pupils’ well-being and
their emotional and physical
safety

(D) None of these

(E) Not attempted

45. Ais B’s brother, C is D’s father, E is

B’s mother, A and D are brothers.
How is E related to C ?

(A) Sister

(C) Niece

(E) Not attempted

(B) Sister in law
(D) Wife

Complete the following analogy,
Length : Metre : : Angle : ?

(A) Newton (B) Watt

(C) Radians (D) Candela
(E) Not attempted

47. Pedagogy is concerned with
(A) Aims
(B) Content

(C) Evaluation

256
OpE
(D) Teaching methods
(E) Not attempted

PT - 24

43. w1 TR faErE § wmg
e a1 TedqT WAL S R A TR i,
1 yfrarer famm 6 s #1 U 2
(A) A -3Th =
(B) g -wHRATETR =TT
AC) 2 i =
(D) F=nfrF i =
(E) Zwmfaa
44. wFel Sfra i e o 2

(A) ITH FFAE 2 TEE Fw

(B) TR fAeE e

() faenfa=n &1 wem3 Fn 37 YT

(D) 39H & F1E A
(E) Fwanfaa
45. A,BHRWER C,DF U % E BF 57
BRANMDYEZ IET CEFN T2/
(A) =& (B) w11
(C) welT=i (D) 7=
(E) 3wanfaa
46. frafafaa wmwm @ = |
s : WieT ;e ?
(A) =gz (B) A
AC) e (D) e
() 3mwnfaq
47. foenne & gau 2
(A) 37
(B) fawras
(C) HediH
D) fag
(E) siafEd
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48. The micro-organisms which convert
the dead plants and animals to
humus are known as
(A) Decomposers
(B) Producers
(C) Consumers
(D) Scavengers
(E) Not attempted

.EI
"J_!l"
135

In a class, 20 opted for Physics, 17
for Maths, 5 for both and 10 for other
subjects. The number of students in
the class is

(A) 35

(C) 52

(E) Not attempted

49.

(B) 42
(D) 60

50. Green leaves make their food by the

process of

(A) Photosynthesis
(B) Respiration
(C) Transpiration
(D) Germination

(E) Not attempted

Which district of Haryana has a
topography characterized by 1ong and

narrow pediments and undulations
caused by windblown sands ?
(A) Mewat (3) Gurgaon
(C) Panchkula (D) Karnal
(E) Not attempted

S1.

Socialization is the process of
learning to become @ member of the
(A) School

(B) Society

(C) Committee

(D) None of the above

(E) Not attempted

52.

PT - 24

as. A il sl ST mnnwm:;m
Sl = % ET A A R

AA) HATEHER

(B) Iedreh

(C) FvTal

(D) Tk

(E)

mmmnznqxﬂﬁmﬁm 17 3 oA,
< § 2l faw @en 10 3 3= fawn 7 37
ﬁsmlmmnfamfmzﬁm@n&m—l%
(A) 35 AB) 42

(C) 52 (D) 60

(E)

am?ﬁ%?

49.

50.

m%ﬁamwwvﬂﬂ?w
awﬁar&mmhsmsﬂﬂ‘“*

FHTVT B arell 3an- ~agra el
(B) TFQW

*{ D) iﬁ{:"s i

52.

(A) ¥
'-,I £ o) @
@3z () ufala

(D) 3111_1'&?1 H

g:l,,

(E) =
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S3. Who is known as Hadi - e - Haryana ?
(A) Shah Gulam

(B) Shah Muhammad Ramzan
(C) Gulam Qadir

(D) None of the above

(E) Not attempted %;‘%
=5
S4. This festival in Faral village is
celebrated on Somvati Amavasya
(A) Gugga Navami
(B) Phalgu tirth
(C) Baisakhi
(D) Lohri
(E) Not attempted
§5. Five people P, Q, R, S and T are sitting
around a circular table facing towards
centre. S does not sit besides R. R sits
between P and Q. T is on the second
place from the right side of P. Who sits
to the immediate left of T ?
(A) S (B) R
(C) P (D) Q
(E) Not attempted
56. Topra is a historical village located in
which district of Haryana ?
(A) Faridabad (B) Panipat
(C) Rohtak (D) Yamunanagar
(E) Not attempted
57. A man travels 100 km distance at
60 km/h speed and next 150 km
distance at x km/h. If the average
speed of the man is 5.0 km/h in the
whole journey, .wha;l is the value of x
from the following (B) 44
(A) 43 (D) 42
(€) 43 p
(E) Not attempte

PT - 24

§3. Trd)-u-gita % A I, fHE T T ¢

~AA) M8 AT
(BB) & AT TR
(C) T i
(D) 3% & & Fré
(E) mrafaa
54. WS TG § 7@ RN HIEd SAEEEn 5
AT A 2
(A) T i
AB) w1 fad
(C) A=
(D) @&l
(E) svanfaa
55. uim =fFa P, Q, R, S 31 T %z Hi 37w 17
Fh RN 0 & 9 AT ES E I S, R
F A N T qSA B IR, P IR Q F AW
HASHR I T, P& o8 30 8§ T WE T
RITHIH T s a1 2 7
.(A) S (B) R
(C) P (D) Q
(E) s1wafaa
56. AU ghamn F fey e i g w
Ufemifyes i 2 2
(A) wiemETE (B) 9aa
(C) TrEa® AD) AR
(E) 3wanfaa
57. U sl 100 fdt i g 60 /T

1 nife @ 74w @ 3w 150 fll A A
x s /vin o wifr & o e & 1 2R
o 3 3 1 v fa so fa /AR |
ClP frfafiga 3 @ x o wm an @ 7
4308
S (a) 45 (B) 44
(C) 43 (D) 42

(E) 3rwnfaa
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59.

60.

61.

62.

Which of the following is not a tyv
gender role ? B
(A) Reproductive role

(B) Gender dynamics role

(C) Productive role

(D) Community politics role

(E) Not attempted

Which of the following is most
suitable for teaching children, the
concept of fractions ?

(A) Cuisenaire rods

(B) Abacus

(C) Geoboards 5

(D) Number charts ?ﬂé@
Z
EI::‘-"';JZ

(E) Not attempted

Dr. Sultan Anjum was editor of
which monthly Urdu Magazine of
Haryana for 35 years ?

(A) Tamir - € - Harvana

(B) Jajbat - €~ Haryana

(C) Nagmat - €~ Haryana

(D) Nigarshat . e - Haryana

(E) Not attempted

Epilepsy describes a condition of

(A) hearing jmpairment

(B) abnormal brain activity

(C) visual impuirmcm

(D) children with learning challenges
(E) Not attempted

followingis the light Bat tle

PRDO and L&T to
v pequirements

Which of the
tank developed bY
meet the Indian Army)
in the Eastern Ladakh ?

(A) T72 M1 (B) Arjun
(C) Vijayant& (D) Zorawar

(E) Not attempted
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58.

59.

60.

61.

62.

PT - 24

fpferfaa d # Fra-m fem yfew =
T AR 2 7

(c) ForraTsa
L(D) T Ae
()
ﬁogﬁﬁﬁqﬂasaﬁmgﬁwﬂfﬁm
s 34, afe & HAEw F 7 ;
- (&) amfit-e-gfeEm
(B) AT -T-FATn
(C) AU~
(D) Forreama -u-gfeEmm
(E)
el e Tt fRafey 1 i Al 2
(A) FA 6 gHerd
_(B) s wfEes nfafatd
(C) 774 geeran
() Hrat < el @ T4

() swnfad

i @ 3 wredia A @ SRS
wl g0 # F ferq DRDO 3R L&T 7@
fawfaa e ok & frafefgg o #

FA-HI B 7
E]J:;._lﬂl (A) T72 M1 A(B) 34
£3E () fasda (D) irEt

(£) 31
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63.

64.

65.

66.

The Purpose of assessment of

learning is to measure, certify and

report the

(A) Level of administration
(B) Level of teachers® teaching
(C) Level of students’ learning
(D) None of the above
(E) Not attempted

)
=) 3

X starts walking from his house
towards East. After walking 2 km,

he turns left and walks 6 km. From
there, he again turns left and walks
10 km distance. What is the distance
of X from his house ?

(A) 6 km (B) 8 km

(C) 14 km (D) 10 km

(E) Not attempted

Which district in Haryana is a major
hub for the Automobile Industry ?
(A) Faridabad (B) Panipat

(C) Gurgaon (D) Karnal

(E) Not attempted

Choose the correct statement.

(A) The shape of figure determines
the perimeter.

(B) If two figures have same area,
their perimeters are equal,

(C) If two figures have same
perimeter, their areas are equal.

(D) The units of perimeter and aren
are same.

(E) Not attempted

65.

66.

O eIy,
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63.

64.

10
2 }‘r (©) ufa @ swpfaai €1 wfda w9 2, @

PT - 24
yifore =men 3i frdrd e 2

(A) ST 1 F A

(B) foreasi & 3T 1 F=H
_(C) B % HEa & =
(D) 3aa 4 # 18 A

(&) sifad

X 01 W B P A A T 9E A 2
2 faft wem & @@, @7 4 g3 2 i
6 ol werm 2 | 77 7, @7 fa & an
W%aﬂTloﬁmﬁim aF FA 2 |
X @l 9 o E gl A 2 2

(A) 6 T (B) 8 ferfi
() 14 feht 4D) 10 &=t
(E) 3waifaa

ghmn =1 wiA-g1 fFen HicmEEs s@m
H UGE FE B 7

/(A) Hiferare (B) 9HTTd
(C) TTE (D) FATE
(E) 3Tfea

T wua 9fe |

AA) suea w1 s ofifa Fuifta @ 2 )
(B) ufe &1 anerfaal w1 &FHe 79E R,
Iaeh) uftha so=T 2t 2

Ik QA% qUE g1d 8 |

(D) uftfa 30t dawet 6 geTEal G9A
il 2 |

(E) 3Tvanfema
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67. lev Vygotsky's theory became known as

68.

69.

70,

(A) Socio-Psychological theory of
development )

(B) Physio-Psychological theory of
development :

(C) Socio-Cultural theory of
development

(D) Socio-Physical theory of
development

(E) Not attempted

[ 11[1['_]
(e

People who have been living in the
forests for at least 25 years have a
right over the forest land and what is
grown on it. This statement is related
with which Act ?
(A) Right to Forest Act, 2007
(B) Indian Forest Act, 1927
(C) National Forest Act, 1988
(D) Indian Forest Amendment

Act, 2019
(E) Not attempted

What primary cultivation is found in
the flood plains of Panipat district ?
(A) Tea and spices

(B) Rice and sugarcan¢

(C) Cotton and soybeans

(D) Vegetables and fruits

(E) Not attempted

“The sum of any w0 whole numbers

e rof
is a whole number.” This property

whole numbers is referred 10 85
(A) Distributive property

(B) Closure property
(C) Commutative Pro
(D) Associative property

(E) Not attempted

pcrt Y
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67.

68.

69.

70.

«1a arme=hl #51 fagm

—  _%wma
A AR

(A) Fermmm a1 mmfn -t fogr
(13) Fermmm a1 ot et frgm
_(c) famm 1 st -smiept

(D) fasms = smenfass it fram,
() srufea

501 #m A N 25 a1 F T
I-ﬁ?iﬂﬁzﬁiﬁ"fm‘ﬁ’ﬂ?ﬂ«uu?’-ﬂ‘;"
i w sifrmn & | 77 Faa e st
# Hafud 2 7

"(A) @7 st AfafrEE, 2007
(B) W@ &3 HiufEE, 1927
_(C) =g 77 HAfufEE, 19588
(D) WTHIA FF Hoa s,
(E) 3roanEa

qrfioa fel 3 @2 % S92 5 FH-H
i @Al T 2 7

(A) | 3T AT
_(B) =TEs 3T

(C) @ 3t HIEE

(D) TfEral 3 wel .

(5) 3wafaa

2019

“fad ot @1 t{m deq w1 4m
e i @ 1 gl wesl F ¥ A 1

E AE 8

[«)p.[8) (A) fadwor qu
1-115 (13) aedlse

() fafurg qu
AD) HrE=d vl
(1) swafaa
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72.

73'

74‘

75.

Moral development theory is given by
(B) Lev Vygotsky
(D) Pavlov

(A) Jean Piaget
(C) Kohlberg
(E) Not attempted

The theory of Pedagogy is broadly

classified into categories,
(A) 4 (B) 3
(C) 2 (D) S

(E) Not attempted

Rickets is caused by the deficiency of
which Vitamin ?

(A) Vitamin A

(B) Vitamin B12

(C) Vitamin C

(D) Vitamin D

(E) Not attempted

The circulation of water between
ocean and land is known as the

(A) Water management

(B) Water cycle

(C) Water recycle .
(D) Water pollution

(E) Not attempted

The stage between 11 years to 15 years
above is

(A) Sensory Motor stage

(B) Pre-operational stage

(C) Concrete operational stage

(D) Formal operational stage

(E) Not attempted
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71. S Faspm T foeeh g fea mn 2 7

(A) S fama (B) &1 A
() Freer (D) wTEEr
(I5) FwaTfEa

72. forerome 3 fezia 1 W2 A W
siforrt % arrifepd feman T 2

'?’ﬁ,m 4A) 4 (B) 3
AT (C) 2 (D) 5
(E) s
73. mmm&ma%%?
(A) faarfim A
() faaifm B12
(c) faarfm C
»(D) ferfi D
(E) IrwamEd

74. WEEAR 30y & @ 7@ F FEEH B
a1 HEd 8 7
(A) el WEHA
_(B) el =56
(C) el G
(D) Siet s
(1) FwafEa

BELE: 15 a 8§ s ¥ dra @ Een

(A) Had) W sEEn

(13) yd ~wiforanenas srae -

(C) 318 wHfsraTena Jraran 1"
(D) sit=nfi wfmaTesE S

(E) 3iwenfaa

75.

www.mseducationtv.com



76.

77.

78.

79.

80.

If TAIL is coded as VCKN how i
PEACE coded ? g

(A) RGCEG
(C) RDZBD
(E) Not attempted

(B) QFBDF
(D) QECEG

The three parameters of adult
socialization is

(A) Childhood, marriage, parenthood
(B) Childhood, marriage, old age

(C) Marriage, parenthood, old age 5
(D) Childhood, parenthood, old age E]“'IFEI (D) =<9, Wﬂ.-ﬁﬂ'_"':'- e
(E) Not attempted (E) Frufad
Pre-operational stage start from 7g. Wi-3racEe F HIEEA R
(A) 0-2ycars (B) 0-5years (A) 0 -2 (B) 0-35T4
(C) 2-7years (D) 2-9years (€ 2-7T4 (D) 2 -9 71
(E) Not attempted (E) Fwnfad
Complete the following analogy. 70, frafafaa Az @0 & |
Horse : Mare : : Dog : ? Grgl : |Igl ;2 FE: 7
(A) Paw (B) Bitch (A) T _(B) T
(C) Kennel (D) Puppy (€) Fie (D) freen
(E) Not attempted () smafEa
The interpersonal relations between go. fuere 3."’" ol & dra gt A
the teacher and the students involves anfie % x . .
(A) Keep students involved and (A) BTl \G?I sifiel TE AT " 9 8
. : I 4 1

actively particip almgd. s and (ny it ah T e & f
(B) Show concernl for students i

their problem® ients (C) Ol 41 @l & fee yreaifaa 3l
(C) Motivate and inspire students 10 A

learn 55 (D) I st
(D) Al of the 2BOE =4 (E) st
(E) Not attempted
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6. Af2 TAIL @ VCKN feman =T 2 A

7
PEACE i frm e femn s 7

AA) RGCEG (B) QFBDF
(C) RDZBD (D) QECEG
(E) s

g7, T T % A frmfrzr 2
() 7=, faane, @~
(B) ==, faam, Z2m

7@ ) faame, - frge, FETT
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PT -

English Language

Evaluation in teaching English
language composes
(A) Classroom management or
classroom decision making
(B) Analysing and interpreting
information for learners
~(C) Both (A) and (B)
(D) Neither (A) nor (B)
(E) Not attempted

Direction (Q. No. 82 and 83) : Read the

following poem and answer the questions

given below it.

What is this life if, full of care,

We have no time to stand and stare ?

No time to stand beneath the boughs
And stare as long as sheep or cows ?

No time to see, when woods we pass,
Where squirrels hide their nuts in grass ?
No time to see, in broad daylight,
Streams full of stars, like skies at night ?
No time to turn at Beauty’s glance,

And watch her feet, how they can dance ?

No time to wait till her mouth can

82. No time to turn at Beauty's glance

And watch her feet, how they can

dance ?

Figure of speech used in these line
are
I-j:;El (A) Personification
Ei' (2] AB) Alliteration
(C) Metaphor
(D) Simile
(E) Not attempted

83. Meaning of the word woods in this
context is

(A) forest

(B) brush
AC) cleared

(D) furniture

(E) Not attempted

84. Fill in the blank with appropriate
preposition from the alternatives

given below it.

They are planning to go for a stroll
the river bank.
(A) along
AB) through

Enrich that smile her eyes began ? ",v (€) on

A poor life this if, full of care, E]' ‘E (D) about

We have no time to stand and stare. (E) Not attempted
=20-
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gs. Which among the f(l"OWing be
the maxims nftcnohing P MO

(A) Proceed from simple 1o complex

(B) Proceed from particular to

(€)

~(D)
(E)

86. Choose the alternative which best
expresses the given sentence in direct/

indirect speech.
Anmol said to her, “Don't read so

fast”.

(A)

(B)

4C)

(D)

(E)

87. Students with speech defects

(A)

(B)

(C)

AD)
(E)

Inn“ o

general
Proceed from whole to parts
All of the above

Not attempted

Anmol told her not to read so

fast.
Anmol advised her not to read so

fast.
Anmol requested her not to read

so fast.
Anmol ordered her not to read so

fast.
Not attempted

may

Need more time 10 orally answer

questions

Use assistive technology to better
communicate

Also be at risk for being targeted
by bullies i)

All of these s ;’*»f é

Not attempted -

a1

PT - 24

88. In Extensive reading

(A) The aim is only to grasp the

meaning of what is reael
Il (3) The help of the teacher is
:i-ﬂir ,
(=] [=] maximurm
(C) Words, phrases and expressions
are not studied in detail

AD) Both (A) and (C) are correct
(E£) Not attempted

89. Mecasures to improve handwriting is
(A) Using the transcription notebook
(B) Model writing on paper may be
displayed on flannel board
(C) Use of over handwriting slips
(D) All of the above
(E) Not attempted

90. Choose the appropriate active/passive
form of the following sentence from
the alternatives given below it.
Piyush's pocket has been picked.

(A) They have Piyush's pocket
picked.
(B) Picking has been done to Piyush's
pocket.
(C) Picked has been Piyush's pocket.
-(D) Someone has picked Piyush's
pocket,

(E) Not attempted
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01. s awdi & ¥z T PR 8 7

(A) Ft i anfi @R I E |
(B) & A Inf Frow T2 |
(C) TR 3t w2
(D) & 3nfi =R S E

(E) IwarEd
92, ﬁimﬁqﬁmﬁ%ﬂ,m,gwﬁm
e 3 H SiEad T e
_(a) ferprdl (B) 344
(C) FF (D) &
(E) Irwanfad
93. TN Fel [ TR % & 7
_(A) 313 (B)
(C) ©F (D) |1
(E) 3rwaifad
04. ¥ @ waim form e A H A 2
(A) a1
_(B) 99 HTd
(C) wfae @i
(D) & & h1$ TH
(E) smwaifaa
95, ‘@l @ i Fet el wrnd Bl # 7
AR ®12 g
. D) 13 @%@
(E) 3rwnfaa

?

—__-.--_- - -
96. fam TU gEI &I FAH

97.

98.

99.

100.

PT - 24

2 afzn, s R 1
Wéﬁqﬁf@am‘mmgﬁm
fy, itz 213 @ga_f@sm |

' Aifs sEATG FE

Eiei e

w1 A i e 35 TR Qe & AR @
gﬁgﬁarga,a%ﬂ%trﬁl,ﬂ%gmam 7
Tt Jz, T T, gO A = A0

R FETE TS, S A |
ggm,ﬁﬁrhmzﬁlﬁ,ﬁmq\ugn

Titer forgehl wEE @l 2 7

(A) TEEA (B) anfagd

(C) THA _(D) Tt

(E)

T2 v &1 YR fRE g g A v
(A) fome (B) W
(C) Ui (D)

(E)

foft =afaa, a%q @1 SR & ATH B T
FEd & ¢

(A) T B) Hsl

(C) faumum D) £

(E) smanfEa

Tﬂf%ﬁﬁlﬁﬁmfﬁéﬁiﬁ ?

(A) 7 - (B) 8

4C) 3 (D) IR 3 | i T
(E) 3wanfaa

wiegi 3 anfa A e I s H e
@ a1 i 3w A e @ A
YIS R 7

(A) 3ga .(B) YT
() aF4 (D) BHTH
(E) 3wnfaa
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